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Two-Variables Linear Equations (ax+by=c)

Name:

6x—2y=10
4x+ 5y =13

2x— 4y =-32
8x— 6y = —38

S5x—4y=-17
Tx— 6y = =27

Tx+ 3y =45
6x+ 8y =82

Date: Score:

2.

2x—4y=-24

Sx— 6y =-32
4.

Tx+ 6y =103

3x— 8y =-51
O sy— 8y =6

Tx— 5y =127
¢ & —3y=4

6x + 4y =28
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!0 I? @ Two-Variables Linear Equations (ax+by=c)

Name:

6x—2y=10
4x+ 5y =13
x=72
y=1
2x— 4y =-32
8x— 6y = —38
x=2
y=9
S5x—4y=-17
Tx— 6y = =27
x=3
y=28
Tx+ 3y =45
6x+ 8y =82
x=3
y=28

Date: Score:

Y- 4y=-24
Sx— 6y =-32

2
7

X
y

Tx+ 6y =103
3x— 8y =-51

7
9

X
y

Sx—8 =6
Tx— 5y =127

= o=
Il
W AN

¢ & —3y=4
6x + 4y =28

x=2
y=4

www.snowmath.com



https://www.snowmath.com

